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No. E%%ﬂ %%ua"? %KJEJT'TL‘R% Fﬁ&tﬂ! IZE j((m2) j((EF‘:J) k(EFq) 7((F':J/H)
1 HrEnsR AT LK Z40 B HHENRET 2 19751 209 1.06 20,900
2 RE TH %t EF EEmHERRE 3 11865 200 1.69 15,600
3 RETE TH %t 120 AT/ \ETEXEET 3 14202 200 1.41 13,100
4 TimET R QT LK %t B RiEThrh oA 4 15413 200 % 1.30 22,000
5 BRAAEAY-IIY VY EIETT TH %t EE =EEWEAEHIE 5 166.18 200 1.20 27,700
6 MZHIZLDE C-DIE LK %t 5 MmEHIZLOE 2 13097 200 153 20,000
7 MZH/\EER 2|l LK B MEH/\EBE 27 1 280.99 200 0.71 22,000
8 MZmIZLDE LK 0 MmEHIZLOE 1 21543 200 0.93 21,000
9 FTANERHET(1) LK Z40 S HENRET 1 157.87 190 1.20 19,900
10 EMATAL R = 5 R HET sx #t BM  RMTHIER=AIRE 2 281 180 0.64 18,000
11 74374V NERTE 15 ™ %t 5 FAEmHEE 3 24797 180 0.73 19,500
12 FFNEEAT(2) LK 0 N HFTENRET 1 167.12 170 1.02 17,700
13 MZHREFAEM LK Z40 MBHREFFEME 1 163.21 170 1.04 17,580
14 BT X PG {nFET sx #t BfE  ENMTERAEEE 1 143.83 150  * 1.04 16,000
15 EBEHREEN) LK 5 HETRES 2 19479 150  * 0.77 17,500
16 BiEmINAEETEE LK %t BT EETMAKERETEME 1 138.99 150  * 1.08 16,000
17 BEHREEQ LK B BHBEHRES 1 303.03 150 0.50 30,000
18 #)—unN -y X ENETR SN X £ B e X 52 B AT 4 14327 150 1.05 27,200
19 J\IBFHE LK #t B M H/\EFHE 1 201.08 140 % 0.70 16,500
20 HY)—yn-hh it X FEEEH SN 5 ZEERTRHREFEE 2 107.11 120 1.12 18,500
21 N)—#)AT-V'EBHNEFHE SN #t EH EHHTAEEHNRE 1 24757 120 0.48 27,000
22 FHETFHhET LK %t ZE FEATEHAET 1 160.03 120 0.75 14,000
23 7=y =H T X G0 ER TG SN %t 5 AEETAXATE 1 146.42 120 0.82 36,000
24 B)=ynN=-HFBH AR SN ZH  EBHHWAFE 5  168.66 100 0.59 23,500
25 NJ=2)AT—Y E B FHHEEREI SNt 5 EBHTE/NET 4 135.15 100 0.74 20,500
26 N)—#9AT-V"EFE B HERA SN #t 5 EBHTHER 5 14291 100 0.70 22,500
27 5=yN=h5F LR /MBI SN 5 ZE BT SFILR/ME 3 172.36 100 0.58 26,000
28 KERTF & ON #t 5 )W v K BT =7 HoE 1 147.00 100 0.68 15,000
29 VILLETAE I sz PN RARWERMEE 5 21261 20,000
30 THHNA VIR N E EK #t T NS THHIRET 2 16048 23,000
2014 ERTHAFRET 30 & 69 X[H|
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